HH 3T

ASFf4 (202 2) FF

—EitMETEE (F15)

1A

h






ML 3 T T

Sf4 (2022) FEMET —BIFMETE (F15)

a4 (2022) FEMBHTO —MKIFMETHE (F15) 3. RCED
LEZAICED,

(% A % 7 B Al IE)
FH1R ARHETHEOBREICRAKEEALZENS, 779 THAEZBML., K
ABHTHEOREZZEAREZTNEN48, 108, 779 THET 5,
2 WMABMETHEROMEDKEDO X K RYFEX S I & ORI I M IERD
AR TREROSFE LT, THE1X BARHTEME] ICX5,

G4 (20224) 2H24HEH

GEN A IR = S SR | I



Paran Lk Lk b 4P
1% % N sk H 7 B IE
54 A
* MIERTO%E i E % &t
T T T
21 fll4x 600, 000 8, 779 608, 779
R Tl 600, 000 8, 779 608, 779
% & 48,100, 000 8,779 48,108, 779




P s fHIERTOKE M E % &t
EEE] T EEE]
9 YHBLE 1,775, 582 8, 779 1,784, 361
1 Hbi#E 1, 775, 582 8, 779 1,784, 361
% & 48,100, 000 8,779 48,108, 779







Sf4 (2022) #F—ks3

e TR I T 5 E
(% 1 5)

1A

h






T AN A I Y 05 S T 1 B R
1 # &
(ke A)
MHIERTO%A wWOE %
T T T
21 a4 600, 000 8,779 608, 779
57 A & 3 48, 100, 000 8, 779 48,108, 779




LB
(rsk )
K HIERTOO%HE i E % &t
T T T
9 JHbE 1,775, 582 8,779 1, 784, 361
% & &t 48, 100, 000 8, 779 48,108, 779




%%E%’EHODE%“WE\W%R

T F T " )
EESTE W i z o e BUR
T T T T
8,779
0 0 0 8,779




H W IERTOO%HE W OIE % 7
M Fm M
1 4 600, 000 8,779 608, 779

A 600, 000 8,779 608, 779




W 3

&
M 1
8,779 | M4 8,779

2 13k Heiié




3 % as|
9%k HPHE
15 W&
ioE B oo WO N R
H i ERTOFE i IEAH & E E i) U P
EREe | M Z o e
TH TH TH T T T T
2 FEHAHIHEE 146, 952 8, 779 155, 731 8, 779
#
z 1,775, 582 8,779 , 784, 361 0 0 0 8, 779




H 3
X oy 4 %A g
T T
1 SR 8, 779 | THPI#RS R
002 5 iV B — i i B 2 8,779
001 ¥4 F5 [ B RN 8,779
HBE EHREN 1, 458 A 8, 779

9k {HEHZE



- KA OGN 4
fii IE T w5 & OB M &
1 BRI
@ 5 #
CEERT
= Y s B N D = 3 = o
Koo WA | mom | B | o e S20 w6 ow | we
RIS R
N (T | (FTM) | (A | (TR | CFH) | CFH) (T | (T
8,260
E = 3 26, 520 177 34, 957 7,197 42,154
3.25
37,275
& B 25| 119,676 156, 951 38,012 194,963
f 3.25
1E
i
=00
R 2,895 139,972 139,972 139,972
i 2,923 259,648 26, 520 45, 535 177, 331,880 45,209 377,089
8, 260
E = 3 26, 520 177 34, 957 7,197 42,154
3.25
37,275
w B 25 119,676 156, 951 38,012 194,963
f 3.25
1E
T
R 2,895 131,193 131, 193 131, 193
7 2,923 250, 869 26, 520 45, 535 177, 323,101 45,209 368, 310
B
# A
te
B
=D
R 8,779 8,779 8,779
7 8,779 8,779 8,779







